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44 R—= ax.show() plt.show()
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50 R— From contrl.matlab import * from control.matlab import *
123 %= | u = np.sin(freq[i+j]*Td) u = np.sin(freq[2*i+j]1*Td)
126 R—Y | 51T, 1 TENROSGE, B 10 rad/s X5, 1 KEBNZRDEGE, RS 10 5
129 R—Y for i in range(len(T)): for i in range(len(zeta)):
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216 R—3 | 40rad/s IZBF B HIE —176 deg FREE T DT, | 40rad/s 1B 2 iHIE —183 deg FREE T DT,
PAHE 4deg FREEICR > TLEVET. X —3deg BEICR>TLEVE T
216 XR— | 60 — (180 — 176) = 56 deg 72 NiMHEHEFH 3 60 — (180 — 183) = 63 deg F2JZ, NiMHEZHEEZHE 2
216 R—Y ¢m = D6deg & L, ¢m = 63deg & L,
228 X—Y | &(t) = (A + LC)&(t) + Bu(t) — Ly(t) x(t) = (A+ LC)&(t) + Bu(t) — Ly(t)
(7.2) =(A+ LC)z(t) + Bu(t) — LCx(t)
246 R—Y kts <t < (k+1)ts kts <t<(k+ 1),
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